REDROCK

MOLDED MUD GUARDS

(2015-2020 F-150 - WITHOUT OEM FENDER FLARES)

INSTALLATION INSTRUCTIONS

CONTENTS

TOOLS REQUIRED

(1) LH Front Mud Guard
(1) RH Front Mud Guard
(1) LH Rear Mud Guard
(1) RH Rear Mud Guard
(1) LH Bed Bracket
(1) RH Bed Bracket
(4) Plastic Push Clips
(8) Phillips Screws
(4) Screw Clips

(4) M6 Bolts w/ Retainers
(12) M6 Flat Washers

(6)

1
6) Spring Clips

Phillips Screwdriver
Panel Removal Tool
Drill (Optional)

1/8” Drill Bit (Optional)

SKU # T576601



REDROCK

STEP 1
(FRONT)

Remove (2) 7mm bolts from the inner fender liner. Align the mud guard, and re-install the (2) 7mm
bolts. Fold the upper tab under the fender lip.

STEP 2

Secure the upper portion of the mud guard using (1) spring clamp.



REDROCK

STEP3
(REAR)

Remove the (2) push clips from the bottom of the bed. Align the mud guard, and hold into place
using (2) Phillips screws and (2) screw clips. Fold the upper tab under the fender lip. Secure the
top of the mud guard using (2) spring clips.

STEP 4

S et

Secure the rear of the mud guard using (1) bed bracket, (1) M6 bolt, flat washer, & retainer on each
side of the bracket.



REDROCK

STEP 5

Secure the bottom of the mud guard using (1) M6 bolt and (1) flat washer.

Repeat steps 1-5 to the opposite side of the vehicle. Installation is now complete.



	T576601 - RedRock - Molded Mud Guards (15-20 F150 without OEM Fender Flares)-01
	T576601 - RedRock - Molded Mud Guards (15-20 F150 without OEM Fender Flares)-02
	T576601 - RedRock - Molded Mud Guards (15-20 F150 without OEM Fender Flares)-03
	T576601 - RedRock - Molded Mud Guards (15-20 F150 without OEM Fender Flares)-04

